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b. M| 7HX| M & S F X[ J.

- HZ& P E(Standard Mode) : 100 Kbps

- 12 D E(Fast Mode) : 400 Kbps

- 2112 D E(High Speed Mode) : 3.4Mbps
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1. Applicason 3. Check TWSR 10 see if START 5. Check TWSH 0 see If SLAW 7. Check TWSR 10 ses if data
§ writes 1o TWCR was sent. Applicason lcads was sent and ACK roceived. was sent and ACK received.
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s writien 10 one, and TWSTA s i written 10 one. TWINT is written to ono
writlen 10 2ero.
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void 12C _init(void)

{
TWBR = 12; //12C TS5 400KkHZzE M| B (A ABIZHO0| 16MHz@l B2
TWSR = 0x00;

void 12C_start(void)

{
TWCR = (1<<TWINT) | (1<<TWSTA) | (1<<TWEN);

void 12C_stop(void)

{
TWCR = (1<<TWINT) | (1<<TWEN) | (1<<TWSTO);



void I2Cwrite(unsigned char address, unsigned char data)
{
12C_start() // START condition & 4! (TWCR = (1<<TWINT) | (1<<TWSTA) | (1<<TWEN);)
// START condition A S 7+ M &t 2 77t X| L 7|
while(((TWCR & 0x80) == 0x00) | | (TWSR & OxF8) != 0x08);
TWDR = 0xd0 | 0x00; /] B&9| 12C T2 (datasheet: DS1307= 0xd0 )
TWCR = 0x84; //OtAE S RE
/1 S 2= A £20[ 20 M Ack CH 7|
while(((TWCR & 0x80) == 0x00) | | (TWSR & OxF8) != 0x18);
TWDR = address; // Write address (datasheet2f =5} OF &)
TWCR = 0x84; //OIAE SA RE
/1 S 2= A £20[ 20 M Ack CH 7|
while(((TWCR & 0x80) == 0x00) || (TWSR & 0xF8) != 0x28);
TWDR = data; // write data
TWCR = 0x84; /] OfAE SA 2 E
/] TS 2= A 22| 0| 20| M ack T 7|
while(((TWCR & 0x80) == 0x00) || (TWSR & OxF8) != 0x28);
12C_stop(); // STOP condition (TWCR = (1<<TWINT) | (1<<TWEN) | (1<<TWSTO);)
delay(1);



unsigned char 12Cread(unsigned char address)

{

unsigned char data = 0;

12C_start(); // START condition & 4!
// START condition Y127} T& 22 77HX| T 7|

while(((TWCR & 0x80) == 0x00) | | (TWSR & 0xF8) != 0x08);
TWDR = DS1307 | WMODE; // DS1307 address & write mode
TWCR = 0x84; //OtAEH SA EE

/) TS tEA| S2|0|E0| A aAck EH7|

while(((TWCR & 0x80) == 0x00) || (TWSR & 0xF8) != 0x18);

TWDR = address; // Write address (4 1A} St= T4

TWCR = 0x84; J/OFAH SA R E
/] HE 2t2 Al =24 0| 20| M ack CH 7|

while(((TWCR & 0x80) == 0x00) | | (TWSR & 0xF8) != 0x28);

TWCR = 0xA4; // RESTART

/] HEfZ =7} ox10 &0

while(((TWCR & 0x80) == 0x00) | | (TWSR & 0xF8) != 0x10);
TWDR = DS1307 | RMODE;
TWCR = 0x84; J/OAH SM B E

/] M& 2 A 280|200 M Ack CH 7|

// DS1307 address & read mode

while(((TWCR & 0x80) == 0x00) | | (TWSR & 0xF8) != 0x40);

TWCR = 0x84; J/ OFAE 2=AITH7| R E

// data <=1 Tff 7|

while(((TWCR & 0x80) == 0x00) | | (TWSR & 0xF8) != 0x58);

data = TWDR; // data =2l

TWCR = (1<<TWINT) | (1<<TWEN)| (1<<TWSTO); // STOP condition

return data;



0| Xi|: GY-86 (& X: https://blog.komastar.kr/13)

- 2C(TWI) S 2 2 GY-86 2= LHO|| = MPU60502| 7t = XYz
= 2(0x3B - 0x40) 2t XIO| 2 XYz = = (0x43 - 0x48) | X | A& 27|

Description

10DOF modules (35 X0IZ + 3% 5% + 35 AlAHAH + (0|2 5)
Sensor : MPUB050 + HMC5883L + MS5611

gyroscope range: + 250 500 1000 2000 °/ s

Accelerationrange: + 2+ 4+ 8 + 16 g

HMC5883L: Measuring range: + 1.3—-8 Gauss.

Power supply :3-5v

(fully compatible with 3v-5V systems, including LLC circuit)

Interface : 12C

Weight: 1.46g

Size: 22 x 17mm
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DATASHEET CF2 2 E 111
(MPUG6050 + HMC5883L +
MS5611)



MPU6050 datasheet®| register map (74| O|X[)Z £ & Of2lj 2t &= (& St= OOl e =AE = olgt A)
Register Name z?ﬁal Bit7 Bit6 Bit5 Bit4 Bit3 Bit2 Bit1 Bit0
b 12C_MST DATA
INT_ENABLE RIW FF_EN MOTEN | ZMOTEN | _OFLow g - - o
ZMoT i 12C_MST DATA
INT_STATUS R FF_INT MOT_INT s _OFLOoW T . : R
ACCEL_XOUT_H R ACCEL_XOUT[15:8]
ACCEL_XOUT L R ACCEL_XOUT[7:0]
ACCEL_YOUT_H R ACCEL_YOUTI[15:8]
ACCEL_YOUT L R ACCEL_YOUTI7:0]
ACCEL_ZOUT_H R ACCEL_ZOUT[15:8]
ACCEL_ZOUT_L R ACCEL_ZOUTI7:0]
TEMP_OUT_H R TEMP_OUT[15:8]
TEMP_OUT_L R TEMP_OUT]7:0]
GYRO_XOUT_H R GYRO_XOUT[15:8]
GYRO_XOUT_L R GYRO_XOUT[7:0]
GYRO_YOUT_H R GYRO_YOUT[15:8]
GYRO_YOUT_L R GYRO_YOUT[7:0]
GYRO_ZOUT_H R GYRO_ZOUT[15:8]
GYRO_ZOUT_L R GYRO_ZOUT[7:0]




z:zg:ﬁgg :Zﬁ!&ﬂz byte MPU6050 read(byte addr)
#include <megal28.h> {
#include <math.h>

#include <stdio.h>

#include <string.h>

typedef unsigned char byte;

byte dat;

TWCR = OxA4;
while(((TWCR & 0x80) == 0x00 || (TWSR & OxF8) != 0x08))):

TWDR = 0xDO;

byte MPUG6050_read(byte addr); TWCR = 0x84:

void MPUG6050_ write(byte addr, char data);

void getRawData(); while((TWCR & 0x80) == 0x00 || (TWSR & OxF8) I= 0x18))):

TWDR = addr;

unsigned intgx=0,gy=0,9z=0,ax=0,ay =0, az=0; TWCR = 0x84;

byte buffer[12];

void main(void) while(((TWCR & 0x80) == 0x00 || ((TWSR & 0xF8) = 0x28)));

{

TWER = 0x12: TWCR = OxA4:
s o
TWER = (1 << TWEN);  /linit i2¢ while(((TWCR & 0x80) == 0x00 || ((TWSR & OxF8) != 0x10))):
MPUG6050_write(0x6B, 0x00);
_wri _ TWDR = 0xD1:
MPUG6050_write(0x6C, 0x00); TWCR = 0x84-
getRawData(); while((TWCR & 0x80) == 0x00 || (TWSR & OXF8) I= 0x40))):
while(D) TWCR = 0x84:
{ while(((TWCR & 0x80) == 0x00 || ((TWSR & OxF8) I= 0x58))):
. dat = TWDR:
\ getRawData(); TWCR = 0x94:
} return dat;



void MPU6050_write(byte addr, char data)

{

TWCR = OxA4;
while(((TWCR & 0x80) == 0x00 | | ((TWSR & OxF8) != 0x08)));

TWDR = 0xDO;
TWCR = 0x84;

while(((TWCR & 0x80) == 0x00 | | ((TWSR & 0xF8) != 0x18)));
TWDR = addr; // addr = 0x43
TWCR = 0x84;

while(((TWCR & 0x80) == 0x00 | | ((TWSR & 0xF8) != 0x28)));
TWDR = data;

TWCR = 0x84;

while(((TWCR & 0x80) == 0x00 | | ((TWSR & OxF8) != 0x28)));
TWCR = 0x94;

delay_us(50);

void getRawData()

{

buffer[0] = MPU6050_read(0x3B);
buffer[1] = MPU6050_read(0x3C);
buffer[2] = MPU6050_read(0x3D);
buffer[3] = MPU6050_read(0x3E);
buffer[4] = MPU6050_read(0x3F);
buffer[5] = MPU6050_read(0x40);
buffer[6] = MPU6050_read(0x43);
buffer[7] = MPU6050_read(0x44);
buffer[8] = MPU6050_read(0x45);
buffer[9] = MPU6050_read(0x46);
buffer[10] = MPU6050_read(0x47);
buffer[11] = MPU6050_read(0x48);

ax = (int)buffer[0] << 8 | (int)buffer[1];
ay = (int)buffer[2] << 8 | (int)buffer[3];
az = (int)buffer[4] << 8 | (int)buffer[5];

gx = (int)buffer[6] << 8 | (int)buffer[7];
gy = (int)buffer[8] << 8 | (int)buffer[9];
gz = (int)buffer[10] << 8 | (int)buffer[11];



